

$$ar, ar+rd, ar+4d$$

$$a, a+rd, a+4d$$

$$r_{sub} = r$$

$$\frac{a_1}{r_{sub}} = \frac{1}{r}$$

$$a_{n_{sub}} = \frac{1}{r} ar^{n-1}$$

$$a_{10} = \frac{1}{r} ar^9 = 144$$

$$(ar+rd)^r = (a)(a+rd) \rightarrow ar + rd^r + r+rd = ar + 4rd$$

$$rd^r = r+rd$$

$$rd = a$$

$$r_{sub} = r$$

$$w(ar), r(ar^r), ar^r \rightarrow rar^r = \frac{rar^r + ar^r}{r} \rightarrow -rar^r + rar^r + ar^r = 0 \rightarrow ar^r(-r+1+r^r)$$

$$(r-1)(r-r^r) = 0$$

$$r = 1 \text{ or } r = r^r$$

$$r = r^r$$

$$d = \frac{v}{\varepsilon} - r = -\frac{1}{\varepsilon} \rightarrow \left. \begin{array}{l} a_{\varepsilon} = r + \frac{w}{\varepsilon} = \frac{v}{\varepsilon} \\ a_1 = r - \frac{v}{\varepsilon} = -\frac{1}{\varepsilon} \\ a_{1^r} = r - \frac{1^r}{\varepsilon} = -1 \end{array} \right\} \frac{v}{\varepsilon} + u, \frac{1}{\varepsilon} + u, -1 + u$$

$$\left(\frac{1}{\varepsilon} + u\right)^r = \left(u + \frac{v}{\varepsilon}\right)(u-1)$$

$$\frac{1}{14} + u^r + \frac{1}{r}u = u^r + \frac{1}{\varepsilon}u - \frac{v}{\varepsilon} \rightarrow u = -\frac{v}{\varepsilon}$$

$$- \frac{v}{\varepsilon} - \frac{v}{\varepsilon} - \frac{v}{\varepsilon} \rightarrow r = \frac{-\frac{v}{\varepsilon}}{-\frac{v}{\varepsilon}} = \frac{v}{\varepsilon}$$

$$a + ar^r + ar^r = vr$$

$$t_1 = a_1 = a + r = ar = ar^r, t_{1^r} = ar = ar^r$$

$$\left. \begin{array}{l} tr = ar^r \\ tr = t_{1^r} = d \end{array} \right\} ar^r = a + d \rightarrow d = a(r^r - 1)$$

$$t_{10} = ar^r = a + ar(r^r - 1) = a + ar \cdot r^r - ar \rightarrow ar^r - ar \cdot r^r + ar = 0 \rightarrow$$

$$a(r^r - ar^r + 1) = 0, r^r = \frac{r \pm \sqrt{1-4r}}{2}$$

$$\left. \begin{array}{l} \textcircled{1} r^r = 1 \rightarrow r = r \\ \textcircled{2} r^r = 1 \rightarrow r = 1 \end{array} \right\}$$

$$r = 1 \rightarrow a + a + a = vr$$

$$r = r \rightarrow a = \frac{vr}{\varepsilon} \rightarrow d = a(r^r - 1) = \frac{vr}{\varepsilon} a(1-1) = 0$$

$$\rightarrow a + ar + ar = vr \rightarrow a = 1 \rightarrow d = a(r^r - 1) = 1a(1-1) = 0$$

$$a_1 + ar + ar^2 = r$$

$$a_1 \times ar \times ar^2 = 4r \rightarrow \frac{a}{r} + a + ar = 4r \rightarrow a^2 = 4r^2$$

$$a = 2r$$

$$\frac{r}{r} + r + r^2 = 11$$

$$\frac{r}{r} + r^2 = 11 \rightarrow \frac{r^2 + r}{r} = 11 \rightarrow 11r = r + r^2$$

$$r^2 - 11r + r = 0 \rightarrow \Delta = 11^2 - 4 = 121 - 4 = 117 \rightarrow r = \frac{11 \pm \sqrt{117}}{2}$$

$$\frac{11 - \sqrt{117}}{2} = \frac{1}{2}$$

-2

$$(rn)^r = (n^r - r)(n^r + r) \rightarrow \frac{1}{r} \times \frac{1}{r} \times r^2$$

$$r n^r = n^2 + r n^r - r$$

$$r n^r = n^2 - r \rightarrow n^2 - r n^r - r = 0 \rightarrow (n^r - r)(n^r + r) = 0$$

$$n^r = r$$

$$S_r = \left(\frac{1 - (\frac{1}{r})^r}{1 - \frac{1}{r}} \right) r = \left(1 - \frac{1}{r^2} \right) \times 14 = \frac{14r}{r^2} \times 14 = \frac{14r}{r} = 14$$

$$1 + r + r^2 + r^3 + r^4 = \frac{141}{11} \rightarrow$$

پیشانی است که الی جمله اول
نیمه ششده حاصل باشد
اول باقی مانده

$$141(1 + r + r^2 + r^3 + r^4) = \frac{141}{11} \times 141$$

$$141 + 141r + 141r^2 + 141r^3 + 141r^4 = 141$$

$$\frac{r^5 - 1}{r - 1} = \frac{141}{r} = 1.1 \rightarrow 1.1 = 1.1 \times 11 - 1.1$$

$$1.1 = 1.1(11) - 1.1 = 12.1 - 1.1 \rightarrow 11$$

-2

$$r^4 = \frac{141}{1} = r^4 = 141$$

$$r = 1 \rightarrow a_n = 1 \times r^{n-1}$$

$$a_2 = 1 \times r^{2-1} \rightarrow 1.1 = 1 \rightarrow 1$$

$$a_2 = -1 \rightarrow 1$$

$$A + B \rightarrow 12.1 + 1 = 13.1$$

$$A + B \rightarrow 12.1 - 1 = 11.1$$

$$d = -\frac{a_1}{r} + \frac{a_2}{r} = \frac{1}{r} \rightarrow a_n = \frac{n}{r} - \frac{a_1}{r} \rightarrow a_{101} = \frac{101}{r} - \frac{a_1}{r} = \frac{2}{r} = 1$$

-2

$$a_n = 141r^y$$

$$141r^y = 1$$

$$r = \frac{1}{141} \rightarrow r = \frac{1}{r}$$

$$a_1, a_2, a_3, a_4$$

$$a_1 + r d, a_1 + 4r d, a_1 + 9r d \rightarrow a_1 r + 4r d + 14r d = a_1 r + 14r d + 14r d \rightarrow r d = -r d$$

$$(a_1 + 4r d) = (a_1 + 9r d)(1 + r d)$$

$$r d (1 + 1) = 0$$

جمله یکسان باشد!

$$d = -\frac{a}{10}$$

-2